Explanation to Solution:

· The last few weeks at university we have been focusing on budgeting and relevant costing. I understand the theory of relevant costing but when I get to the practical side of things I find I get quite lost. Nevertheless, here are some explanations to the work that I have done so far.

· I was not sure whether or not the cardiac care rooms present the hospital with an opportunity cost because now the hospital is forgoing the revenue it could have received from utilising those facilities more.

· On the other hand I believe there definitely was an opportunity cost now that they have converted the wing of the hospital. I have calculated this on the basis of $120 per un-utilised bed per day (in the 8 bed wing)

· I didn’t increase the personnel costs 8% per year as it says in the question that is “has risen 8% annually in the last few years”. It doesn’t mention that it is rising in the next few years.

· I didn’t include depreciation as I figured that the total cost of the units will be accounted for in the average cost figure already and will therefore be irrelevant.

· I notice there is a 10% increase per year for the contract maintenance and service call costs for inflation. Supplies increase by 12% per year for inflation and aging of equipment. I’m assuming that of the 12%, 2% is for the aging of equipment & 10% is for inflation. But it does not mention inflation anywhere else which adds to my confusion.

I know that I am missing the point of this question, and I am sure that the optimal selection is not 60% utilisation @ $120 per unit per day. Could you please tell me what I am doing wrong?

Thankyou so much for helping me with this. While I enjoy this subject I’m doing, I’m finding it a real challenge and your help is much appreciated.

Regards,

Dave

